A-101

Figure A-5-8 and Table A-5-11" indicate the minimum clearance that should be used to line of sight
obstructions for horizontal curves. The lateral clearance is obtained from the stopping sight distance
and the proposed horizontal radius of curvature. The stopping sight distance is obtained from Table
A-5-9 and Table A-5-10.

Sight distance (S) meaosured along this line

S = Sight distance in feet.
R - Radius of & inside lane in feet.
M = Distance from & inside lane in feet.

Angle is expressed in degrees

M = R Efcos <728'6R5 S> ]

Obstruction ) R [ -1 < R - M >]
or S = ———— |cos
Cutbank 28.65 R

Line of Sight is 2.3' above € Formula applies only when S is equal
inside lane at point of obstruction. to or less than length of curve.

Formula applies only when S is equal to or less than length of curve.
Line of sight is 2.3 feet above centerline of inside lane at point of obstruction.

FIGURE A-5-8
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"S" = Stopping Sight Distance (feet)
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Source: AASHTO — Guide For The Development of Bicycle Facilities
TABLE A-5-11

MINIMUM LATERAL CLEARANCE FOR HORIZONTAL CURVES
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